Textbook p. 220 Answer Key
1) 1

2) 4

3) 2 – not important

4) 3

5) 1

6) 2

7) 3

8) 1

9) 1

10) 3

11) 4

12) 3

13) 2

14) On your own graph paper

15) Snow melt, increased precipitation

16) Omit

17) Possible flooding

18) Lay out the 4 m rope, start the stopwatch when the crosses the beginning of the rope and stop the watch once the apple crosses the end of the rope.  Divide 4m by the time

19) The stream will continue to push out at the outside of the meander and on the inside it will continue to fill in making it move towards the bottom right of the diagram

20) Omit

